1709209412_Intl memo no. 918-001 - Anx B - Work Completion Report 28-02-2024_ver3.xlsx

Company			Name of contractor	Priyanka Devi	Sl. No. site bills reg.		1402	
Project/site	SOV-III		Nature of work	Tiles Laying	Dt. site bills reg.			
Block no.	200		Work done from date	05-03-2024	M-codex bill ID.			
WO no.	NA		Work done to date	10-04-2024	WO issued ?		NA	
WO date	NA		Contractor bill no.		GST bill requ	ired?	NA	
S1. No.	Unit/floor no	Det	ails of work	Qty	Units	Rate ID	Rate	Amount
1	200	Tiles laying work (2)	(2 V.Tiles)	1387.000	Sft	TF185	16.00	22,192.00
2		Skirting		285.600	Rft	TF186	16.00	4,569.60
3		Ceramic tiles for bath	troom	740.000	Sft	TF180	18.00	13,320.00
4		Kitchen & utility		70.000	Sft	TF183	15.00	1,050.00
5		Staircase granite		1.000	Lumsum		20,000.00	20,000.00
6		Kitchen platform gra	nite	2.000	Lumsum		5,500.00	11,000.00
7		main ddor granite cu	tting & Fixing	1.000	Lumsum		2,750.00	2,750.00
8		Tiles shifting		1428 SFT & 6 Nos	Stt & Nos	LFT104,106, 108	0.9 & 600.20	2,835.20
9		Staircase granite shif	ting charges	1.000	Nos	LFT 110,111	200 & 225	425.00
10								
							Total	78,141.80
						Add GST @	0.00%	0.00
					Total amour	it including taxes f	or work done	78,141.80
Remarks:								
Approved b	y project mana	ger	Approved by QS team	1	Approved by	Director/E&D team	1	
Sign:		25	Sign:		Sign:			
Data:	APP	ROVED BY	Date:		Date:			
if required i.e., d director sign of r This sheet must	neet replaces installa etails cannot be entr respective E&D mer be sent within 2 wo	tion report and advice for cred	lit to contractors. 2. This word form mu greater than 10k QS manager and direc lelude – Soham, Anand Mehta (for GH (with or without contractors bill). 10.	tors approval is required. T + GMP) Sachin (for V	(ivonolis) B anand	Kumar (for NGH + NRK	3 8 Entry of rate ID	is mandatory 9

	ATE SHEET			1				
	ny Name:	Serene Constructions LLP			A			
Project		Silver Oak Villas Part-III			Approved by:			
	Description:	Tiles Laying work V.no 200			Sign:			
	actor Name:	Priyanka Devi						
repar	ed By	K.Purshotham						
Date:		12-04-2024						
S No.	Item Head	Item Description	0					
1	Tiles Laying Work	BUA 2040 Sft (68% Sft)	Quantity	Units	Rate	Amount	Item Head Total	
	V.no:200 Flooring work	BOA 2040 SII (08% SII)	1387.00	Sft	16.00	22192.00		
-	(2' X2' V.Tiles)	Skirting (14% Rft)						
	(Skitting (14% Kit)	285.60	Rft	16.00	4569.60		
2	Ceramics Tiles For Bathroom	(180 Sft Per Toilet)						
	contained Thes For Bathooni	(180 Sh Per Tollet)	740.00	Sft	18.00	13320.00		
3	Kitchen & Utility	Cardinale d'Il						
	renence & Ounty	Cerimic tiles	70.00	Sft	15.00	1050.00		
4	Staircase Granite Fixing							
-	V.no 200	Threads	1.00	Lumsum	20000.00	20000.00		
		Raisers						1
-	With Chamfering work							1)28/010
5	Kitchen Platform Granite.	Black Granite	2.00	Lumsum	5500.00	11000.00		iabeuerny
		Platform Patti						Janis) 4nd
		Edge Polishing with chamfering					Alla	OFT I
		Sink Cutting					LUL-JIES NYT	121
							line is	Anto Language And
6	Main Door Granite 6" cladding with		1.00	Lumsum	2750.00	2750.00		E GALOBORY
		Cutting and Fixing					1 10	L'INO
		Edge Polishing						031
7	Tiles Shifting for Duplex villa	SUBA 2040@70 %	1428.00	Sft	0.90	1285.20		8
	V.no 200						L L	
		Bath rooms tiles shifting - 3-bathrooms	4.00	Nos	250.00	1000.00		
		Each villa						
		Kitchen Dado & Utility Tiles Shifting	2.00	Nos	200.00	400.00		
		(200 Platform)						
		Kitchen Platform Shifting	1.00	Nos	150.00	150.00		
		0						
8	Staricase Granite Shifting charges	G to F.Floors Shifting charges	1.00	Nos	200.00	200.00		
	V.no 200	F.Floor to S.Floors Shifting charge	1.00	Nos	225.00	225.00		
					Grand Total A	mount	78,141.80	
		Amt in Words:- Seventy Eight Thousand Or	e Hundred Fort	v Two Only			,0,141.00	

	SUREMENT SHEET			1			1		
	any Name:	Serene Constructions LLP			Approv	ad have			
Projec		Silver Oak Villas Part-III				ed by:			
	Description:	Tiles Laying work V.no 200			Sign:				
	ractor Name:	Priyanka Devi							
Prepa	red By	K.Purshotham							
Date:		12-04-2024							
S No.	ltem Head	Item Description	Lanath	MU: 141	TT-1-1-		0	TT-14-	Itere II.e. J.T. t. I
1	Tiles Laying Work	BUA 2040 Sft (68% Sft)	Length 1387.00	Width 1.00	Height	Nos.	Quantity	Units	Item Head Total
	V.no:200 Flooring work	BON 2040 SII (0878 SII)	1387.00	1.00	1.00	1.00	1387.00	Sft	1 207 00
	(2' X2' V.Tiles)	Skirting (14% Rft)	005.60	1.00					1,387.00
	(=) (Skitting (14% Kit)	285.60	1.00	1.00	1.00	285.60	Rft	
2	Ceramics Tiles For Bathroom	(180 Sft Per Toilet)							285.60
	Columes Thes For Datifoon	(180 Sit Per Tollet)	185.00	1.00	1.00	4.00	740.00	Sft	
3	Kitchen & Utility								740.00
5	Ritelien & Othity	Cerimic tiles	70.00	1.00	1.00	1.00	70.00	Sft	
4	Staircase Granite Fixing								70.00
-	V.no 200	Threads	1.00	1.00	1.00	1.00	1.00	Nos	
	With Chamfering work	Raisers							1.00
5	Kitchen Platform Granite.								
5	Kitchen Platform Granite.	Black Granite	1.00	1.00	1.00	2.00	2.00	Lumsum	
		Platform Patti							2.00
		Edge Polishing with chamfering							
		Sink Cutting							
6	Main Door Granite 6" cladding with		1.00	1.00	1.00	1.00	1.00	Lumsum	
		Cutting and Fixing							1.00
		Edge Polishing							
	Tiles Shifting for Duplex villa	SUBA 2040@70 %	1428.00	1.00	1.00	1.00	1428.00	Sft	
	V.no200								1,428.00
		Bath rooms tiles shifting - 3-bathrooms	4.00	1.00	1.00	1.00	4.00	Nos	
		Each villa							4.00
		Kitchen Dado & Utility Tiles Shifting	1.00	1.00	1.00	1.00	1.00	Nos	
		(200 Platform)							1.00
		Kitchen Platform Shifting	1.00	1.00	1.00	1.00	1.00	Nos	
									1.00
8	Staricase Granite Shifting charges	G to F.Floors Shifting charges	1.00	1.00	1.00	1.00	1.00	Nos	
	V.no 200	F.Floor to S.Floors Shifting charge	1.00	1.00	1.00	1.00	1.00	Nos	1.00
									1.00

Allowance For Equipment

Priyanka Devi A. S.Rao Nagar, Sainikpuri Hyderabad

Date:12-04-24

In favor of:	M/s. Silver Oak Villas LLP
Project / Site:	Silver Oak Villas-III
Location:	Cherlapally
Type of Work:	Tiles Laying work
Towards:	Allowance For Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards completed work floor tiles & Bathroom tiles	
	laying in villa no.200	Rs.31,257/-
	Total amount = 78,142/-	
	Work done from Dt: 02-03-24 to 05-04-24	

Amount in words: Thirty One Thousand Two Hundred Fifty Seven Rupees Only/-

Sign: _____

Allowance for Labour Charges

Priyanka Devi A.S Rao Nagar, Sainakpuri. HYDERABAD

Date: 12-04-2024

In favor of:	M/s. Serene Construction LLP
Project / Site:	Silver Oak Villas Part-III
Location:	Cherlapally
Type of Work:	Tiles Laying Work
Towards:	Allowance For Labour Charges

S No.	Description	Amount
1.	Brief description of work done:	2 mount
	Towards : Completed work: Floor Tiles & Bathroom Tiles Laying Work Completed in Villa No :200.	Rs 31, 257/
	Total amount = $78,142/-$.	
	Work Done from Date:02-03-2024 To Date: 05-04-2024	

Amount in words: Rs. Thirty One Thousand and Two Hundred Fifty Seven Only/-

Sign: _____

Bill for Consumables Allowance

Priyanka Devi A.S Rao Nagar, Sainkpuri HYDERABAD

Date: - 12-04-24

In favor of:	M/s. Serene Construction LLP
Project / Site:	Silver Oak Villas Part-III
Location:	Cherlapally
Type of Work:	Tiles Laying Work
Towards:	Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done:	
	Towards : Completed work: Floor Tiles &	Rs 15, 628/
	Bathroom Tiles Laying Work Completed in	
	Villa No :200.	
	Total amount = 78,142/	
	Work Done from Date:02-03-2024 To Date: 05-04-2024	

Amount in words: Rs. Fifteen Thousand and Six Hundred Twenty Eight Only/-

Sign: _____